06606
—MH: %:rw W:_
75 4+ 206 — 116x+ 96 = 0 30 +20x% + 10x—72=0
X —x—16x+16=0 C+57+8+4=0
50 +29x% — 12x—36 =0 4> =29 —34x+ 80 =0
X — 25x% +208x— 576 = 0 7 — 78%% + 192x — 128 = 0
X +x°—49x— 49 = 0 X+ 8¢ +16x=0
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I THIHRUT 8 BT

AMH:

7% + 20x — 116x+ 96 = 0
,—6,2

x:

| oo

X —x—16x+16=0
x=—4,4,1

5¢ + 292 — 12x—36=0
6

=, -1,-6

5

x:

X — 25x% +208x— 576 = 0
x=9,88

X +x°—49x— 49 = 0
x=—1,7,—7

feTiep:

3 + 29 + 10x— 72 =0
,—2,—9

x:

C+57+8+4=0
x=-2,—-1,-2

4> — 29x* —34x+ 80 = 0
. 8,2

x:

1

7 — 78> +192x — 128 = 0
8

_7258
7

x:

X+ 8¢ +16x=0
x=—4,—4,0

www.snowmath.com



https://www.snowmath.com

